VTT-SST-VD =i
SGERET elesa TOHATSU
an B 17 (@

B85 F&p
ME B8 | HE
PA+IAS | BE | SUS304

o Nz
/‘030‘ h
53
020202
PR ‘
5
paAl UT 3
L_, 0.3
12
D L
2 it I A A A I N O S A Rl -
190346 | VTT.40-SST-M8-VD BF | 40 | M8 - 27 16 - | 135 | 10 23 A
190476 | VTT.50-SST-M10-VD B | 50 | M10 | - 30 19 - |15 13 36 A
190381 | VTT40-SST-p-M8x20-VD | A | 40 - | M8 27 16 20 | 135 | - 28 A
190383 | VTT.40-SST-p-M8x30-VD | A | 40 - M8 27 16 30 | 135 - 30 A
190493 | VIT.50-SST-p-M10x30-VD | A | 50 - | M10 | 30 19 30 | 15 - 47 A
190495 | VIT.50-SST-p-M10x40-VD | A | 50 - | MI10 | 30 19 | 40 | 15 - 52 A
(Ps. JiF e[ @ ] = i[10 [R]
- fERRE [ -30°C~130°C 190346

[sp EE2
- FARAL 5005 &5 PARUAY > 75 FDA #R%E(FDA CFR.21 0 EU 10/2011) » AJEE
RAARMHRMSH - BRES
- BN REMNREERE
- ISR EEE TIFFE A RER
CBOE AR ENEIRESEER



